Group-A SET-IV 3k (Marks ) : 20

gfdg™™@ (HISTORY)
Freifera sgfamedta uodi § | W@t fasea 9 -
Choose the most appropriate options in the following multiple choice questions :
. GfEa ote S<IeH 1 YEe w4 SR Fel 6 ? 1
(F) 1920 &S (@) 1922 9= (1) 1930 TE (%) 1928 feeedt

When and where, the Civil Disobedient Movementwas started?

(a) 1920 Lucknow (b) 1922 Paina (¢) 1930 Dandi (d) 1928 Delhi
2. ‘T 3R WE’ 1 Afq w1 sreeran fEed fwA oo ? 1
(%) wfet (@) feeer () foreT (=) fafemm wem
Who adopted the policy of, 'Blood and Iron' ?
(a) Mezzini (b) Hatler (c) Bismark (d) William-I
i v & feaw T A O A
Fill in the blank with appropriate word :
3. ST A WH i T g0 H FEI 1
L.L.O. was established 1n........................... AD.
4. ARG W fEemsa SRed & A &l 1

.............................. was the leader of Khilafat movement in India.
=1 Uyt T ST 3TfHeRaw 60 YISl W < :

Answer the following questions in maximum 60 words :

5. 1848 %o H WU wifd & FNO FM F 2 3
What were the causes of French revolution in 1848 ?

6.  STHEAN STM=IcH YUYW S SReE o, HY ? 3
Non-cooperation Movement was the first mass movement, flow?

7. olfErfiee 3§ wergy Y eTeifas # ffa @@ yeifea fa 2 3

How industrialisation effected the livelihood of labours ?
= wwel a1 ST stfieRam 100 vl
Answer the following question in maximum 100 words.
8. WG Wi I U F1 off ? TR F YWE UL ? 7
What was the incident of Maili Village ? What were its effects ?
AL (or
AREIE TAWE F F FHRO O 7 F A8 FAWE qFA @I

What were the reasons responsible for Bardoli Satyagrah ? Was this Satyagrah successful ?
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oW b=

ST (ANSWER)

gfagr@ (HISTORY)
(1) 1930, et
() T
1919
TETeT Tt

1830 %o I Hifa & 1% ¢ fHfea wia +1 TN a1 98 IIRaE T o, foreg dSfrafa ot 1 wmefs
ol 39 3N Frgaa gumsst fis amifes e anféer gurd &1 fauedt on 9 fvfaw & 99 ganes
FFH I HIE A a1 | 9 H JEH TF ARSI qg ol 22 WAl 1848 i o & g §
SAT A USHES R forn sfaa: o fhfera &1 U Siea greve wnEl gEl

HETHT e G/ 1920 $o H = T HSAN =RIeH e & YoH 59 <o o1 $6E g4 e T
Qe AR H SMER AR TF Ao o 5 o foaem & feqi &1 & fod o6 ™ o) stmeam
A< H Ugelt aR SAUST TS © qiF F1 Hahey fordn T sHE YOR & gl 39 W ol vgell a) 39
M=o § o2 UM W fHRam, Teey, o, sraar, femt snft 5 am femm

sirenfeRo 3 ¢ Tt yomedt it S e sed T w9 fAfia @y e HIR sEn W agd 90 e
TeTl PR-+R e SEM W T @ T TR W AeEy #1 ersitasn B ) @ % e e sud
F gl # TOEH & fau 97 7€ W@ SR S A g SR Bl 1 dredn URe fwaE stoet
feafa & gur = fod gffepl 3 o=ieM & % o woa: a1 999 #1 J&eTa gl

it faorem & | o e W TME o1l 1968 § st @i S Wi w1 dreeee § 9 g w6
R e i % weft gl # aeHt ¥ 9R e SiRdl SR wwel w1 s 9 fon T oew e w
Hfgenett & @ w2 Al 9% amfew Tonewr e e afemat # ot T2 aem @ R = ot 3R een
TN FOIeE R ME ® e o

T TAEE § RN % A4 U gel oEA a1 a9 o e 39 wed @i I9rR R fafa=
THER-TA F TH T F Y@ ¥ 91 fave WR W T "eA O drel wfafkar gE| 9n aE TRt
TR F HZ A 52| fova Swaa & <aa ¥ et wifd & forn San 2 e smfen aeufa feee
3 A Faw faaam afew i fee-<iw o wifa = fo g5 faom 2q 9= ot gism &t = =@

YAl (or

ARG TARE T G&F FROT fafeet TR gr ffaml | w3 1 sern 91 om fRamt § o i a2l
T3 22% i FX Jfg F GHEH F FEH T g TREC F FEE 7 doadT 9 WA F Agd § SRR
% foeg e fFan 3@ wicer o afgensti = 9fwa w0 9 9w foran stidie & a9eq o ®oudo gyt
T @t St AR A S faum afeg #t ged ¥ @ < faam 2 e, 1928 b St ot emie
o nfHet = MU THER HT G IS A I i AT F 22% F TIHL 6.03% FL AT T T =
" wfeenetl g7 dead 9 w2 #ER’ #: Iy §
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Group-B SET-IV 3k (Marks ) : 20

WM (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

9. TR TwH fFm s A fem 7 2 1
(%) TR (@) TEn (1) dfFerrg (%) FAlEH
Ennore port is located in which state ?

(a) Gujrat (b) Goa (¢) Tamilnadu (d) Karnataka

10. 9RA I ol T =k s | wle T e 2 1
(%) 7 (@) 5 (m 6 () 8
India 1s divided mnto how many postal regions ?

(a 7 by 5 (c) © (d 8

1. W A R e WO

Fill in the blank with appropriate word :

() foER ¥ s #1 ge9 weEyel SRE..... e T TR R 1
The most important fertilizer industry of Bthar is iocated Mo sgwsvsisnimanssusnsssamasss
(i) T fae # geEd 9 fed w@E faey & amd T SEE B, Fel S 2 |

......................... is the term given to the elevation of any place determined by bench mark.
12. = vl @1 W sHfasad 60 v A
Answer the following questions in maximum 60 words :
foer % dmd fog@ #=1 1 Seor@ S| 3
Describe thermal power stations of Bihar.
13. 7= weAl o1 S sAfeEad 60 v 9 3
Answer the following question in maximum 60 words.
- e i #1 Seei@ 3
Explain Non-Conventioanl sources of energy.
14. = wwA %1 SW st 60 =l H T
Answer the following question in maximum 60 words.

= wifa 9 =9 7 g9 § 2

What do you mean by green revolution ?
15. = wwt w1 s afasman 120 o=l F €
Answer the following question in maximum 120 words.
IR § R 9fiEes #1 avi Hifw ? 7
Describe the pipeline transportation in India ?
AL (or)
T IS W 9RA FT Tk @ qHES SR qon Feafafea #1 s@ifes = 9m sifwa Fifso
(%) fomi oo &9 (@) FHergrrn (M) == (%) fawmamem (F)  Fiew
Draw the outline map of India on full page and mark the following by shading :
(a) Digboioilarea (b) Kalpakkam (¢) Chennai (d) Vishakhapattanam (e) Kolkata

HAYET (or
et T o @ fr
Only for Blind Candidates :
faer =+t $f9 TgEmet | == Hitau)

Discuss the problems of agriculture in Bihar.
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10.
1.

12.

13.

15.

ST (ANSWER)

gMe (GEOGRAPHY)
(M) dfeerg

(") 8
@ =
(i) Tt Har
TR St il @ st faer ¥ wE aria fagg s ¥ T weoriia, wiE SR 93 ardg fagd w=
pricid
FEaia R gHel TR faer #1 wad 9€ qrda faea ufEsm 21 98 S g0 wEtsa NTPC &

e e wan B wiG A faga # = quveqR & e 21 W | ot A faem s wenfya e
T R

- TS wd H aEniE, GRS, TEA-se, said U6 oA S, Jad se wd Sd Sl
el 21

IR Sl 1 T ToRm, TR | g31 @1 uad Sl 1 o ToRE ® #es qn afbqerrg &
TARIE | gon 21 Saiig Soft Fos w1 @IS a1 gavaq ° gen 21 fewrae & v § sqardta S g4
wonfya foan T 2

efta wifd #1 IEea 1967-68 H FH SCEA @M 3R @R SEA § 291 F1 SeAfeiw 7 e % forg faan
T 1| A ifd & SAaTa U WL sl 1 YAN, S, §a1 Wi, f9aE w1 gfaw $fu &t 1€ aw"iw
3R drRifirRl W s e mn fod 1€ ud wee % Soed 9 gfg g w6

=@ wifa =1 waifus waE doma, sfamn qen ufvem S w_w § gam

IS 1 STAM @ TEel Yo % ' g W % fou o e S ) wEveey & g aee,
Siett, v e, B A9 iR T8l @ R g % A= @ g ot ufeed e S a2

29 H Fd doll B SARA A 9 UHAETEned 9% 9 Ineaeenst ¥ 9d SR H aeR a9
EUeEd & SS9 S 2

qRd § Fea 9o 9feed & forg geff qen sw-qdf wra ok afvedt ara ¥ ey e e T 2
ot den STR-qet wRa ® g7 femEE @ s v efean o fer T #1291 # ged Fe1 wEyeEd S
RGO ER | A A £ T B o B 1 e O [ o L Bt 2 B e A
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Group-C SET-IV 3t (Marks ) : 17

Taifa fa@™ (POLITICAL SCIENCE)
Freifera agfamedta woi § ¥ Wt famwew =+ -

Choose the most appropriate options in the following multiple choice questions :

16. 3" FHIA 1 AW FAU S TF WA Ajafed & gR W fHA w4 1
(%) ga & AYFR FHEA (@) FIA FEA (1) IAER FHEA (%) =99 9 & &l
Name the law which was passed after a mass movement.

(a)  Right to information act (b) Companies Act (¢) Excise Act (d) Non of these

17. 9 9 FH T e # 2 1
(F) AR TS FHE (W) GRAT S e (1) S g (%) ‘=’ &R 3

Which of the following is a national party ?
(a) Indian National Congress (b) BIP (c) Janta Party (d) 'a'and 'b' both

e wwet w1 SR 20 vl W ¥

Answer the following questions in 20 words :

18. o % faeh=ieno ¥ o F g € 2 2
What do you mean by decentralization of power ?

forer gt ot S 3ifireman 50 vl W © -

Answer the following question in maximum 50 words.

19.  TSHUE FI TSI HH Tk F1 TAGT F4l € 2 3
How coalition government effects democracy ?

20. TS wrEA oo ¥ fafed Sfgum = sravaE # 2 3
Why a written constitution is necessary in the Federal System ?

o1 wea & 3 stfeRan 100 vredl H © -

Answer the question in maximum 100 words :

21. ARG Sfaym # ge faemaet #1 avE #51]) 7
Describe the main characteristics of the Indian Constitution.

AU (or

9 % SHR W WRa favd o1 gty fafaemst aren @) w4 2

India is the largest diversified country on the basis of language. How ?
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16.
17.

18.

19.

20.

21.

ST (ANSWER)

Trerita faa@™ (POLITICAL SCIENCE)
(F) G F AFER FA
(H) ‘Eﬁ‘aﬂ?h@dﬁ
o % fom=ieo =1 sfaum o % ey H #hEa T # sqE fafv= w1 w fawfss s 210 9
T THF G AR H% 0 WA H A" g e 2

AuE § TeEUE Hi TeEita it € T #) e daifE guEd # oeR W o g § 9 9 9K
TER T fou foamum ® "eafa 7 eF & aeEeR o ey R S 21 TeseE % Ren Ui <ol
F &5 afEd 4 wHEi @ USd € s feq @ el feaq & forg e fofa o @R wed 2

eI oA caaeen | fafed wfaem 1 e ot geeyul ¢ gEE ee e & sl ds e At
F Heg wfadl 1 T Sean R S SavasE B ST RN $ 3R TS ® W9 e Hi fefd
IO B W e T Tl ® g fafen w1 @ vfaaat & faumm & =mateem oo fofg 25§
ST B

A e # e favmand fefatea #-

() HEEA diwad - GRAT wihdd U GEE wiiehas &1 Tgufa swefaifernt w1 Seted URifesR g
2, o arwfae afusr wefafog o af=fed e 2, faew gum gumsst e 21 whaieg s
wr & fon amfes w9 @ g9 & ufa swEE 2

(i) T 9AUFN - 9§ faf=q #1 sy yone foemm 21 fafed & weaw 9 wasm 99 5+
wfafafeat = g7a &1 =l 18 o @1 3ud afusw sy & ARG F1 HaEH A H ATFER W 2

(iii) HifeTs AR - 9RG & diaem g AR &1 ©: difes AfaER g 21 39E G0 F AR
Ieaqq IEed F 9 B

(iv) TS =T - AR d@fEum w E ® o uF wd 1 s Smates S5 EeE 2
(v) fafea dfaam - aa #1 |faum fava =1 qa 921 faftaa wfaam 21

YA (or

IRA H TR 1500 AT WGAH F F9 F g 1 FH 114 9 GYE F Foiq fawa fwwm
T | ARG GEHE % ored get ° 22 wmwisi i we G wn 21 3 E-swfiEn, @i, |, =,
TR, S, YR, TTg, i, TS, Hierwdt, AfoTqd, o™, e, geet, Sfen, o, e,
Ged, dor, diie, 391 wed e 9 e @1 fet 2w % wept e A et ok wweh W 21 T
TS 61 I 9 1 OAT ok SMUR W faas ¥ a= & forw fet % wu-wy st i off "o 9w
% ®7 H A= el g8 @
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Group-D SET-1V 3t (Marks ) : 17

9T (ECONOMICS)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

22. ‘T’ fee dw o 4w ¥ 2 1
() R (@) ifsrer (1) 9 (%) 39 | |t
'Rupees' is the currency of which country ?

(a) India (b) Pakistan (¢) Nepal (d) All of these

23,  odum gHA | oo fasg § R & w1 areE gty € 2 1

(%) Ffy &= (@) e & (M) Hen & (7)) ‘@' w1 EE

Presently which sector 1s contributing most in the economic development ?
(a)  Agriculture sector (b) Industry sector (c) Service sector (d) 'b"and 'c' both
frer gt @t 3wE 20 Vi) W ©

Answer the following questions in 20 words :

24.  wEERH ok w7 2 2
What 1s Inclusive Growth ?

et goel o see srfueRam 60 el ¥ -

Answer the following question in maximum 60 words.

25. ToFHMi 1 W@ SYE O FT STERAFHA F e T 7 3
Why does farmers need credit or loan facilities ?

26. 9RA ¥ UST 3 F1 0T FE gEen % gR g ® 2 3

Which is the institution that does calculate the national income in India ?
1w & 3 stfireRam 120 vl W T
Answer the question in maximum 120 words :
27.  faR & onf¥® wrawen W ATEAHOT 1 HHERHH T9E F I0H F1 7
Describe the positive effects of globalisation on the economy of Bihar.
AU (or)
sreforaen 1 G W N GHEd € 2 3% TR 9w o sfer ww # 2

What do you mean by the structure of economy ? In how many parts are they divided ?
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ST (ANSWER)

rdymE (ECONOMICS)
22, (®) T 9 g
23. () Ham &

24. 3T famma =1 9 gfsran foag 99 & quft ol &1 Sfem-5) 91 Sid1 S qen 9o &1 F:E o9 atf
fawm = =9 ¥ gf=a 9 @I

25. faer = srefoqawen gema: HfM W enuifa @1 787 e 75 WiaeE N were A1 STycas w9 9 HfY ug
THY TrEfHa o-HeR SEN ¥ 9 g Bl Wl & afusmiy fram o w g fram € et wf
IHY Wefyq sEm & fog gt #Y sravaRal B Q@ wE & fou gra dgen Ho1 F1 STavaal gl ¢l

26.  UWA H U ™ F TUAT F514 WEAH WE g0 H A6 21 qe geen fafid w1 9@ e e
F IHS THIVE F | UL o & God § syedoqaee % Al enl w1 AEE g gl
27.  faeRr & o1fé oromen W AT F GEAEF 9@ TSI ¢ S fre=fafed § -

() F 3o § gfg - dvdlieor & FRo7 sm feafa o off TR @me-geen % 9me § g6 @ eref F
SarEA o wl 9fg g R

(i) fodelt yorer fraw 1 wifd - Svdieor & woreey faer & farelt yorer fraw o gen 2 ok afesy o
faeeft worer fraw o gfg +1 emen =1 < 2

(iii) ToF S 379 71 9 safem oma § gfg - dvdiwton % Huo faer o9 ®1 o aen wfd sfw o gfs
w2

(iv) Tovawia Suser Teqel 1 Suerea - deeiwt & FRU faer % 9ol § agusE S & ged
WH, S, ede 96, T e, R U6 9 sowRie a5y R ¥ Suersy 2

(v) UR & o@ed # gfg - Syl & Hoasq R ® 9gd 91 Gifeaw IS 3TN S U5
st wd greie enfy 3w § @€l wen § A W © T
(vi) SRS §% wd W w1 S - Avdledol % FR0 AuE . S, a9 ufers, faen
YIS, 20 CIES., srdian senfg 1 faer & st gem 21
0 YR faer =1 srfereren W Avdior w1 HReE 99 gl 2
HAYAT (or)
FAdeTaTen w Gl 9 acad fafa= S &9 % fause 9 2
sreferereen o fafa= w=R &1 oS fFad =t St e 39 fomasti 1 o 9w ® st e e

() el & - W eF w1 9 &9 i Fa S 8 78S Al HiY, YU, TSl e U6 a1 3y
I Fl

(i) oo &= - fadia &= i sieifr a7 «ff Fe S 81 s sidla et =eEm, fof s, S
YAt S - 19 iR faseft snfx om €

(i) JAtash & - gl e i Yo e off FE S 21 g9 aa ok e =1, giEed, §9R U SR
Tafs faamd & 2

SEHE G9E § 39 & eferaen § 39 dl ani A Far &3 &1 AveH way afuw )
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Group-E SET-IV 3k (Marks) : 06

QT Y= (DISASTER MANAGEMENT)
Frifera agfamedta vl ¥ & wEt fawew =7 -
Choose the most appropriate options in the following multiple choice questions :
28. fyeAfefed & 9 A 59 9me 1 @€ € sae wwa | gaifad T e € 2 1
(%) faer (@) #nEE (1) ufe=m S (%) TSI

Which of the folliwing state is not effected by cyclones originating in the Bay of Bengal ?

(a) Binar (b) Jharkhand (c) West Bengal (d) Rajasthan
20.  TH HF @ FH YFR T 8 ? 1
(%) IH= gE@m (@) HrE g (1) FY gan (%) T g

Which of the following 1s not a type of drought ?
(a)  General drought (b) Meteorological drought (¢) Agricultural drought (d) Local drought
30. = weAl w1 SR 60 ¥Rl A T 4
Answer the following questions in 60 words :
&0 e & ST W yHw eiferd|]
Describe the utility of Ham Radio.
34X _(Answer)
28 (®) USEIM
29. (W) TOHEE gEn
30. W fed & swam fefafed € -
() ot wARSH, W 1 SRE-WEH, aPRed U S un % fow g 2

(i) THH ITEN R ® &9 H 9l AW ¥ fF W wwan 2, e qE SOl ol A1 S § %W
T 2

(iii) Toen, sEyE =1 =fama w@l & fou g9 swm = s g% 2
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